RESOLUTION 191-22

RESOLUTION AWARDING CONTRACT FOR THE PURCHASE OF FIRE DEPARTMENT PARATECH RESCUE SYSTEM

WHEREAS, there is a need to purchase Paratech Rescue System for the Fire Department for the Borough of Clayton, County of Gloucester, State of New Jersey; and

WHEREAS, this can be purchased through State Contract #17-FLEET-00757; and

WHEREAS, the amount of the purchase price is \$28,883.30 for the Fire Department Paratech Rescue System; and

WHEREAS, Donna Nestore, Chief Financial Officer of the Borough of Clayton certifies that sufficient funds have been appropriated and are available to cover this contract. The funds are available by virtue of an appropriation in Bond Ordinance 13-2022; and

WHEREAS, public bids are not required when the purchase is under a state contact in accordance with 40A:11-12 of the Local Public Contracts Law.

NOW, THEREFORE, BE IT RESOLVED, by the Mayor and Council of the Borough of Clayton, that Continental Fire & Safety of Hamilton, New Jersey, be and hereby is awarded the Contract for the purchase of Fire Department Paratech Rescue System for total amount of \$28,883.30 and in accordance with the terms and conditions set forth in the specifications promulgated by the Borough of Clayton; and

BE IT FURTHER RESOLVED that the Mayor and Clerk be and hereby are authorized to execute said Contract.

ADOPTED at a meeting of the Mayor and Council of the Borough of Clayton, County of Gloucester, and State of New Jersey held on September 8, 2022.

BOROUGH OF CLAYTON

| THOMAS BIANCO, Mayor | |
|----------------------|--|

ATTEST:

CHRISTINE NEWCOMB, Municipal Clerk

CERTIFICATION

I, Christine Newcomb, Municipal Clerk of the Borough of Clayton, in the County of Gloucester, do hereby certify that the foregoing Resolution was presented and duly adopted by the Borough Council at a meeting of the Borough of Clayton held on Thursday, September 8, 2022.

CHRISTINE NEWCOMB, Municipal Clerk

CONTINENTAL

FIRE & SAFETY

2740 KUSER ROAD HAMILTON, NJ 08691 609-588-0096 - Info@contfire.com

Quote # **Date** 5/11/2022 22-1080

Quote

| Name / Address | |
|-----------------------------|--|
| CLAYTON VOL. FIRE COMPANY | |
| 107 WEST HIGH STREET | |
| CLAYTON, NJ 08312 | |
| ATTN: FIRE CHIEF DAVID REHM | |

| | Terms | Rep | Project |
|--|--------|--------|----------|
| | Net 30 | AJD | |
| Description | Oly | Rate | Total |
| Paratech 22-796200 Acmethread Strut 25-36 - List Price - \$579 20% Trade-in with the Trade-in of Current | 2 | 463.20 | 926.40 |
| Rescue 42 Strut | | | |
| Paratech 22-796202 Acmethread Strut 37-58 - List Price - \$725 | 2 | 580.00 | 1,160.00 |
| 20% Trade-in with the Trade-in of Current Rescue 42 Strut | | | |
| Paratech 22-796012 Strut Extension 12 - List Price - \$206 | 2 | 195.70 | 391.40 |
| Paratech 22-796024 Strut Extension 24 - List Price - \$263 | | 210.40 | 420,80 |
| 20% Trade-in with the Trade-in of Current Rescue 42 Strut | | | |
| Paratech 22-796036 Strut Extension 36 - List Price - \$322 | 2 | 257.60 | 515.20 |
| 20% Trade-in with the Trade-in of Current Rescue 42 Strut | | | |
| Raretech 22-796025 Multi-base - List Price - \$246 | 4 | 233,70 | 934.80 |
| Paratech 22-796180C Hinged Base Plate 12 - List Price - \$602 | 4 | 571.90 | 2,287.60 |
| | То | tal | |

CONTINENTAL

FIRE & SAFETY

2740 KUSER ROAD HAMILTON, NJ 08691 609-588-0096 - Info@contfire.com Date Quote # 5/11/2022 22-1080

Quote

Name / Address

CLAYTON VOL. FIRE COMPANY 107 WEST HIGH STREET CLAYTON, NJ 08312

ATTN: FIRE CHIEF DAVID REHM

| | Tern | ns Rep | Project |
|--|-------|----------|---|
| | Net 3 | 30 AJD | |
| Description | Qty | Rate | Total Total |
| Paratech 22-796161 Tie Down Keys with J | | 48.55 | 186.20 |
| Hook - List Price - \$49 | | | |
| Paratech 22-890553 Ratchet Belt 27' WII | 4 | 134.90 | 539.60 |
| 3300 Lbs - List Price - \$142 | | | |
| Paratech 22-796204 Acmethread Strut 56-88 | 2 | 806,30 | 1,812.60 |
| - Liei Pice- \$954 | | | |
| Paratech 22-796360 Longshore Strut 610 - | 2 | 1,680.55 | 3,361.10 |
| List Price - \$1769 | | - | |
| Paratech 22-796356 Longshore Extension | 2 | 697.30 | 1,394.60 |
| 435 - List Price - \$734 | | | Strandonet kura. Strandonet kura |
| Paratech 22-79HA10K Hydrafusion Strut 10 | 2 | 4,002.35 | 8,004.70 |
| Kit - List Price - \$4213 | | • | |
| Kit includes the following: | | | |
| 1 10in Hydrafusion Lifting Strut | | | , i |
| 1 Manual Hydraulic Pump w/ Hose and | | | |
| Gauge | | | |
| Paratech 22-796035 Strut Converter - List | | 217 55 | 435.10 |
| Price - \$229 | | | engling in State (engling in State (State) (des jungis) |
| Paratech 22-790019 Hydrafusion Strut | 2 | 272.65 | 545.30 |
| Longshore Screw Adapter - List Price - \$287 | | | |
| Paratech 22-796685 Multichain Base-big Rig | 2 | 577/60 | 1,155.20 |
| Rescue - List Price - \$608 | | | |
| | | Total | |

CONTINENTAL

FIRE & SAFETY

2740 KUSER ROAD HAMILTON, NJ 08691 609-588-0096 - Info@contfire.com

| Date | Quote # |
|-----------|---------|
| 5/11/2022 | 22-1080 |

Quote

CLAYTON VOL. FIRE COMPANY 107 WEST HIGH STREET CLAYTON, NJ 08312 ATTN: FIRE CHIEF DAVID REHM

| | Term | ıs Rep | Project |
|--|-------|---------------|-------------|
| | Net 3 | O AJD | |
| Description | Qty | Rate | Total |
| Paratech 22-796180D Dual Base - List Price - \$1418 | 2 | 1,347.10 | 2,694.20 |
| Paratech 22-796134 Channel Base 4" X 4" - List Price - \$156 | 4 | 148,20 | 592,80 |
| Paratech 22-796136 Channel Base 6" X 6" - List Price - \$176 | 4 | 167.20 | 668.80 |
| Paratech 22-796P14 Double Head Steel Picket - List Price - \$40 | | 38.00 | 342.00 |
| Paratech 22-796165 Chain 20 Ft 6.1m X 3/8 In - List Price - \$271 | | 257.45 | 514.90 |
| PARATECH NJ STATE CONTRACT 17-FLEET-007575% DISCOUNT AND FREE SHIPPING | | | |
| IN-SERVICE TRAINING PROVIDED AT NO ADDITIONAL COST TO END USER | | | |
| | | | |
| | | T -4-1 | |
| | | Total | \$28,883.30 |